A=
5 = x
B H SHM6ESH24H(+) - 25H(H)
= 5 7 U=+l
ImE%%
B2 £ E W £ ¥ B H B 1
i H S C&J S C&J C&J S C&J C&J
55kg ik 2 3 4 4 5 2
61kgik 4 4 3 5
67kgik 4 4 5 5 2 1 3 1
73kgik 3 3 2 2 4 1 1 5
81kgik 2 4 4 2 5 1 1 3
89kg#k 3 4 2 2 3 1 1 5
96kg ik 3 3 2 4 4 5
109kg#k 1 3 3 2 5 4 4 1
+109kg#k 5 5 2 2 4 3
BiEa 60 41 68 26 63
B i 3 4 1 5 2
E
*Ii;lﬁs ‘7Jl] 1 ) 1
EEAK
BESRES BE7SEERRF—VAS
(S,C&JZhZh) tEf 7R v & RES
IE = O IE SIME
#F 11 58 FIADOE 2%
%21 45 FE2HMIDE 1%
%31 38 FEIAMDE 14
&4 28 FALDE
%51 15 EHUDE




